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Sec 2-1: Relations and Functions

Relation Function

A set of ordered pairs A kind of relation
where each x is paired

(a bunch of points) with one and only one
y.

Each input produces
only one output



Which of the following is correct?
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Maopina Diaar (3,1),(-2,7),(2,-3), (8, -1), (2, 4), (-6, 8) 2. Tell if each of the following is a Function or Not a Function.
1. List the Domain and (list all x & v coordinates in order without rep a) (4, 3)’ (3’ _9)’ (6, 1)’ (—6, 3)
2. Connect each member of the Domain with its correspo
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Is each of the following relations a function?
a) (1,3),(2,3),(-4,-1),(5,5)

Yes. no x-value rei

b) (-7,4),(z1,9),(9,3),(-1,6)

No. the x-value -1 apoears more t

Tell if each of the following is a Function or Not a Function.
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Is each a functi

What is the Vertical Line Test?

Atest to see if a graph represents a function

If any vertical line intersects a graph more than once
the graph is NOT a function.

Therefore this araoh is a function b
vertical line will intersect it more t

Not a function
d.

Yes, this is a function

Not a function



